[ Efficiency vs vertpos |
~ 0.2

o©
o
N
TTT 7T

Ratio

i

e

T
-
+

o
©
a

2

=
2
N
=
o
iR

T

Efficiend

N~ 0.7

§0.00F - ------- +

a E ,
L0.08F i AL
oy o N : v s
g FE ... P N T LI
GO.07E : :
R YOS USRS SO | OO SO
) E : : : :
0.05;— ----- FRERRE | B EETRERE P
] Rl I SRS SOSN8
(Y1 RN SR S S
007 SRR S R S| IS -

Y SRS B S R 0

1.0

Ratio

e

10 20 30
TP vert z (cm)

0935 =20 -10

[ Efficiency vs. sim PV z |
~n 0.2
> Eoor P P :

O R e A A e
€ o o P :
R A S S
£0.14F i b Peeee
P E : : : : : :

o et S SO S SO
O e 8 B AR ARRE RS S Peeee
0.08 -+ 14 ;
006+t e L

effic

=

-

A

T
d
n

0955715 -10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


